Last time: . foundational definitions related to integer division

. direct proofs of conditional statements

Today: . more direct proof:

. two worksheets: counting. 2. (multisets)

& Proofs. 1. (direct proofs)

1. More direct proofs

Prop from yesterday (we proved (1))

· Prop 6. Let a.b., c.d & and n & Zoo.

(1) If a=6 (modn) and C=d (moden), then

cz) If  $a = b \pmod{n}$  and  $c = d \pmod{n}$ , when  $ac = bd \pmod{n}$ .

(3) If  $a \equiv b \pmod{n}$ , then  $a^k \equiv b^k \pmod{n}$  for every let  $E_{i,0}$ .

 $\begin{pmatrix}
a = b \pmod{n} \\
a = b \pmod{n}
\end{pmatrix} k \text{ times} \implies a + \cdots + a = b + \cdots + b \pmod{n}, ie, a^k = b^k \\
k \pmod{n}.$   $k \pmod{n}.$ 

Pfs of o) and (3): Part (3) follows from repeated applications of part (2),

arc= brd (midh).

So it suffices to prove (2). (2): Suppose a=b (modn) and C=d (modn). Then a-b=kn and c-d=ln for some k.leZ. thus, a - b d = a c - b c + b c - b d = (a - b) c + b (c - d)= knc+bln = n (ketbl) (Since kel, b, c & E, we have ketble Z.) So ac = bd (mod n), and we are done. 1)

Example: Prove-shat every (integer) mutiple of 4 equals  $\left(-1\right)^{n}\left(2n-1\right)$ for some nonnegative integer N,

Note: Yesterday we proved the Convene statement: for every nonnegative int N, the number  $|+(-1)^{n}(zn-1)$  is a multiple of 4. Combined, the statement say that an int. Is divisible by 4 iff it has the form  $1+(-1)^n$ , (zn-1) for (rme  $n\in\mathbb{Z}_{\geq 0}$ . Examples / trials: N=0, What n works? N=0? | t (-1)" (2-0-1) = | + (-1) = 0 . \land N=4, ----?  $\sqrt{(-1)^2} = 4$ 

(3!) 1-1.5 = -4, √

(anjewhere: If 
$$N = 0$$
  $\rightarrow$  pith  $n = 0$ .

(N = 0)

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

N = 0

= 1 - 1. (-4k + 2 - 1) = 4k = N.

4.3,5.

N=-8. ty.

Pf. Let N=4k be an arbitrary multiple of 4.

We show that N= I+ (-1)" (zn-1) for some nE 720.

We discuss three cases.

- (1) N = 0. We note that N = 0 works mu  $|+(-1)^{0}(2 \cdot 0 1) = 0 = N.$
- 12) N>0. Then N=4k for some  $k \in \mathbb{Z}_{>0}$ . Take  $n = \frac{N}{2} = 2k > 0$ . Then  $1 + (-1)^n (2n-1) = 1 + 1 \cdot (4k-1) = 4k = N$ , So we have found the desired number of
- (3) N < 0. Then N = 4k for some k < 0. Take  $n = -\frac{N}{2} + 1 = -2k + 1$ . Then  $1 + (-1)^{N}(2n 1) = |-1(-4k + 2 1) = 4k + |-1 = 4k = N$ . Since k = 0,  $-2k + 1 \ge 0$ , so n suffices as the desired but.